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F(x,y) =£(0,0) + £2(0,0)z + £,(0,0)y + %{fm(o, 0)2% + 2f2y (0, 0)zy + f,(0,0)y%}
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(1) f(z,y) = cos(z +y?) &1,
fo = —sin(z + yg), fy = —2ysin(z + yg),
fre = —cos(x 4+ y?), foy = =2y cos(z +y?), fyy = —4y° cos(z + y*) — 2sin(z + y°),
fzxa: = Sin(aj + y2)7 fa;a:’u = 2y sin(m + y2)a fwyy = 4y2 Sil’l(.]? + y2) —2 COS('/E + y2)a
fyyy = 8y> sin(z + y2) — 12y cos(z + y2).
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a®t =1+ (loga)(x + 2y) + %(azz + dzy + 49%) + %(x3 + 627y + 122y* + 8y°) +
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fo = (loga)a™, f, = 2(loga)a™"*, fo, = (loga)®a™"*, fr, = 2(log a)*a™**, f,, = 4(loga)’a”"?",

fraw = (l0ga)*a®™, frpy = 2(log a)’a™*, fr,,, = 4(loga)®a™?, f,,, = 8(loga)®a” 2V
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fa,y) = P(z,y) + o((Va? +y2)")  ((z,y) = (0,0)) (b)

MDD Z L RFAETH D, ZOHEFEIL, (a) TEHRI N f(r,y) D nikxz7a—Y VERD, (a) 27T
5, (b) ZAT n WEHEKX P(z,y) ZARDT o, P(r,y) B f(z,y) Dnik~xr7va—V VEMEREZ L %2R
LTWws., &) ERD &% (a) ZHWEWSY 70— VEBHOEENFTINS.



(2) 1% £,(0,0) = £,(0,0) =0, D(0,0) = 0 £ A& B[ETHSB. 22T

D(a,b) = fru(a,b) fyy(a,b) = {fuy(a,b)}?
LBV, BEOEHPLFO LS ICER5N5 2 LITHEE LT, £(0,0) HHE Y > A HET 2.
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(1) f(z,y) = cosz+cosy+2zy. fr = —sinz+2y, f, = —siny+2x &Y, f,(0,0) =0, f,(0,0) = 0. fuz = —cosuz,
Joy =2, fyy = —cosy &£V, D(0,0) =-3<0. £o7T f(z,y) 1L (0,0) THAEZHLS 72\,
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(2) flz,y) = 42> +day® + y* = 2z 4+ y°)*. (z,y) # (0,0) »* 2 = —§y2 Zlir=9 & & f(r,y) = 0= f(0,0) &7
DT, f(z,y) 1% (0,0) THMEZHLS 72\,

AR OffifEi &2 B2 72D D+ 052 MAT 3 f(o,y) B (a,b) OIEL T, ik 2 BREEBE S,
Fola,b) = fy(a,) =0 £ F %, X512, D(a,b) = fau(a,b) fyy(a,b) — {fay(a,b)}? LB L E,
fra(a,b) > 0= f(a,b) IFH/NMH,
Jrz(a,b) < 0= f(a,b) ITFKAH.
(ii) D(a,b) <0 D& E, f(a,b) IIMETZR.

(iii) D(a,b) =0 D& &, FHEINS DS BOADOVWTNI—STH S, ZOHETRUETERV. (218K)
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(1) flx,y) =2% —ay+ 9> —x — 4. {;y _ 72 +y2y 4—0 EIRNT, (z,y) = (2,3) (2 DRDIREE 5 Z 5 fi%

). fow =2, foy =1, fyy =2 &V, D(2,3) = f12(2,3) fyy(2,3) — foy(2,3)2 =2-2—(-1)2 =3 > 0.
£oT, f(z,y) 1& (2,3) THUME f(2,3) = -7 ZHl5.
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(1/2,0) (Z D 3 gDl % 52 DA646#). fon = 120212242, fo, =0, f, =2 &0, D(2,y) T,y)—
fay(2,y)? = 4(62% — 62 + 1). D(0,0) = D(1,0) =4 > 0, f,,(0,0) = fm(170)—2>0 &0, f(a, ) & (0,0),
(1,0) TH/ME £(0,0) = f(1,0) =0 2H5. — 4, D(1/2,0) = -2 <0 £V f(z,y) 1 (1/2,0) TIlIMbiff%E

570,
3) flz,y) = ay(z+y—1). {fx:y@“y D=0 %t (@1) = (0,0, (1,0),(0,1), (1/3,1/3) (2 4 5
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fy=z(x+2y—1)=0

DI % 52 BAEHH). fow =2y, foy =20 +2y—1, fyy =22 £V, D(x,y) = fou(@,y) fyy(@,y) — foy(z,9)? =
4zy — (2z + 2y — 1)2. D(0,0) = D(1,0) = D(0,1) = -1 < 0 ckb f(z,y) & (0,0), (1,0), (0,1) THfH
EES . —F D(1/3,1/3) = 1/3 > 0, fur(1/3,1/3) = 2/3 > 0 &0, f(z,y) & (1/3,1/3) TH/ME

f(1/3,1/3) = —1/27 ZHL5.

fe=3x2+4x+y=0
fy=xz+2y=0

6% 5 2 B0840). foo =62 +4, foy =1, fyy =2 &V, D(z,y) = faz(z,y)fyy ( Y) — foy(z,y)? =122 + 7.
D(0,0) =7 >0, f,2(0,0)=4>0 &b, f(z,y) I (0,0) THEI/NME f(0,0) =0 % 3. —}, D(=7/6,7/12) =
—7<0, &0, f(z,y) & (=7/6,7/12) THHHEZHLS 72200,

(5) f(z,y) = sinzsiny. {

(4) f(l”,y)=m3+2x2+xy+y2~{ ERROT (2,y) = (0,0), (~7/6,7/12) (2D 2 AW

fz=coszsiny =0
fy =sinzcosy =0

—sinzsiny, fqy = cosxcosy, fyy = —sinasiny &Y, D(z,y) = foz ( Y) fyy (@, Y)— fay (2, y) = sin® zsin” y—
cos? x cos? y. D(2 ;T) 1>0, fm(g,g) =-1<0 &b, f(z,y) & (g g) TR AH f( z) =1%H%.

(6) f(z,y) = yTan 'z {fm z2 +1 =0 EIRNT (z,y) = (0,0) (2 DRANEEZE G 2 B 0HH).  foo =
fy:Tan_laCZO
2= For =0 K0, D(@,) = fral, ) fyy(0:9) — Frylp)? = — o
(1‘24—1)27 Ty — SC2—|—1 yy 5 xr,Y) = a:x(xyy) yy\T, Y zy\T, Y - (SC2—|—1)2
—1<0 &0, f(r,y) 1 MEZILS 2.

fe=2x—4y=0

(7) flz,y) = 2® — 4oy +5y% — 2y + 1. {fy _ Cdr+10y—2=0 EIRNT (2,y) = (2,1) (DO RMBBEE 5 25

fBfif). foz = 2, foy = =4, £y =10 &V, D(z,y) = fou(z,y) fyy(2,y) — fﬂﬂy(x7y)2 =4>0. fealz,y)=2>0
0, flz,y) 1 5 (2,1) THUMA £(2,1) =0 2HX5.
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